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K% it JI ‘ w144 ‘ it JI BT 4 s Il 1B ‘ it ‘ FembiE L | MEFO06 14 (19864F)
P T Hifir LASH 2515 3513 45 26 55 14F 61 17H 7H8H 8450 | 9A16H | 104130 | 11H20H  12A9A

K1 Al B oKk B g 4y 14:45 15:00 15:20 12:10 15:40 14:20 14:35 13:45 17:00 15:40 14:20 15:10
K2 | A2 | B Ak @ Wi oo oo W o o Wi Wi Wi Wi Wi Wi
K3 | A3 K 1 i i £ i £ 551 i i i i £ i
K4 A4 K A m 1.22 0.48 1. 18 2.23 1. 46 0. 96 0.99 0.94 1. 25 1.11 1. 18 1. 06
K5 A5 i 8 ms/sec 10. 09 5.84 6. 36 141. 68 38.29 5. 57 9. 87 7.49 28.71 15. 27 21.29 13.32
K6 A6 4 K % m 0. 57 0.48 0.77 1. 66 0.84 0.74 0.74 0. 38 0.42 0.34 0. 38 0.29
K7 AT B ok Kk B m 0.11 0.10 0.15 0.33 0.17 0.15 0.15 0. 08 0. 08 0.07 0. 08 0. 06
K8 A8 E b= C 1.0 -2.5 =7.2 11.9 11.0 17.2 19.8 19.2 18.1 11.3 4.5 2.3
K9 A9 K b= C 0.8 0.5 0.8 6.5 11.4 18.5 19.0 20. 8 15.8 12.8 3.3 1.0
K10 | AlO st #wo) (6 75 1 (6, 75 1 (6 75 1 VSieh=) MOHIE | EOEEE | BEOEIE | REEE | ROETE | EOEHE | ReE | EaBHE
K11 All FaS B — — — — — — — — — — — —
K12 Al2 S B 3) — — — — — — — — — — — —
K13 Al3 4N B 4 — — — — — — — — — — — —
K14 | Al4 B (mER) 5 BN Bl Bl Bl Bl 5 5 5 5 5 5
K15 Al5 % i) & cm 30. 0< 30. 0< 30. 0< 4.0 30. 0< 30. 0< 30. 0< 30. 0< 30. 0< 30. 0< 30. 0< 28.0
K17 A17 + W oK g 4y 20:06 19:05 14:09 10:22 12:22 16:26 10:13 9:24 20:18 18:41 10:39 16:10
K18 Al8 = g 4y 11:53 9:51 22:19 17:24 20:10 10:55 17:44 16:48 15:23 13:55 16:15 10:13
K21 B1 pH 7.6 7.5 7.5 7.4 7.4 7.7 7.8 7.8 7.7 7.6 7.8 7.7
K22 B2 BOD mg/1 0.7 0.3 0.3 0.6 0.1 1.2 1.8 0.9 0.4 0.6 0.3 0.6
K23 B3 COD mg/1 1.7 0.9 1.7 5.7 2.0 3.0 3.4 4.2 3.0 2.4 2.2 3.1
K24 B4 SS mg/1 2 1 1 198 24 5 12 16 25 5 9 38
K25 B5 DO mg/1 14.0 12.9 13.6 11.7 1.6 9.0 1.4 8.6 9.4 1.9 13.5 14.3
K27 B7 K W BE MPN/100m1 49 33 33 240 49 490 330 16000 330 130 130 46
K29 B9 W £ ES mg/1 0.31 0.25 0.32 0.45 0.1 0.2 0.21 0.31 0.22 0. 08 0.15 0.23
K30 B10 S D) Mg mg/1 0. 009 <0. 003 0.011 0.101 0.011 0.014 0.026 0.038 0.03 0.010 0.013 0.029
K43 C3 Sh mg/1 <0. 005 <0. 005 — — — — — — —
K65 C25 B i) ES mg/1 — — — 0.1 — <0. 100 — — <0. 100 —
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&y HH EE¥va LA8H 2H5H 3H3H 45126H 5H14H 6H17H 7H8H 8H5H 9H16H 107 13H 1120H 12/ 9H
K133 D3 kil mg/1 — — — — <0. 005 — — <0. 005 — — <0. 005 —
K134 D4 il #h mg/1 — — — — <0. 005 — — 0.008 — — 0.010 —
K135 D5 wOfR M Bk mg/1 — — — — 0.2 — — <0.010 — — <0.010 —
K136 | D6 Rt~ o 7 mg/1 — — — — 0. 01 — — 0.02 — — <0.01 —
K1342 X42 kA A+ mg/1 14 16 14 5 5 13 11 16 6 8 8 13
K1362) X62 FEVMERMGE RS | {8/100m] — — — 17 8 12 49 490 79 5 11 5






